
o
’
u

 

t
i
 

0
 

m
 

c\l 
9
 

3
 

I 



k
 

E 6) 0
.

 

1
 

0
 

6
)
 

3
 

5
 

\o
 

I
I

I
I

I
 

I 
I 

I
"

'
 

I
l

l
1

1
 

I 
I 

I 
I

"
'

 
4

0
 

4
 

.............................. 
/
.
.
.
 ................................................................................... 

.
.

.
.

.
.

 
.

.
 

I
.

.
.

.
 .

.
 

............ 
........................................ 

.
.

.
.

.
.

 
.

.
.

.
 

.
.

.
.

 
.

.
.

.
.

.
 

.
.

.
.

.
.

 
.

.
.

.
.

.
 

.
.

.
.

.
.

 
.

.
.

.
 

.
.

.
 

............................ 
.............. 

................................................. 
:... 

..................... .
.

 
............................. 

................................................................................... 
1

.
:

:
:

 
: 

........................................................ 
j..:...:. 

. :... ........................... 
.:..... ........ 

......... *... 
% ................... 

1 .......... I
 ............... 

.I ........... 
:
 ...,.... 

..... : .... ._: .......... : .............. 

........................................ 
;.. 

. ............,.. :. ..... :_
 ............................................ 

.
.

 
1

:
:

 
,

.
 

1
:

:
:

:
 

' 
: 

I
:

.
'

.
 .

.
.

 
I

.
.

'
 .

.
 

' 
' 

' 

I
:

:
:

 : 
1

:
:

:
:

 
. 

: 

:.. 

.
.

.
.

.
.

 
.

.
.

.
.

.
 

.
.

.
.

.
 

.
.

.
.

.
 

.
.

.
.

.
.

 
.

.
.

.
.

 
.

.
.

 
.

.
.

 
.

.
.

.
.

.
 

.
.

 
.

.
.

 
.

.
.

.
.

.
 

.
.

 
.

.
.

 
.

.
 

.
,

 



'b' f3 Q
) 
a
 

Td 
Q

) 
a, 
a
 

crj 
Td 

Td 
Q

) 
9-I 
f3 

b
) 

9-I 
a
 

0
 

d
 

crj 

J
 

*
 

m
 

N
 

m
 

0
 

0
 

N
 

U
i 

b
 

t-c 
F4 

Q
 

4
 

I 

Td 

8 
? 

4
 

4
 

b
 

b
 

m
 

M
 

b
 

m
 

H
 

I 

M
 

0
0
 

m
 

M
 

uj 
M

 
m

 
m

 
M

 
n
 

d
 

0
0
 

m
 

0
0
 

m
 crj 

H
 

B 3
 m
 

b
 

m
 

t
\
 

m
 

m
 

m
 

0
0
 

M
 

M
 

'cd 

3
 



0
0

 

k
 

'3
 

E 

aj 
Td 
0
 

0
 

0
 

Td 
3
 

d
)
 



Scope 
Variance o2 (T) Estimator 

\ /  

d = 1 : 1 st difference var Unmodified Nonoverlapped 
d = 2: Allan Modified Overlapped 
d = 3: Hadamard 

1 Unmodified: z = Adx 

I Modified: z = AdzT I 
Nonoverlapped: 6 = z 
Overlapped: 6 = T~ 

Noise 

WHPM, a = 2 
FLPM 1 
WHFM 0 

... 
RRFM -4 

sx ( f ) - f a-2 

Restriction: a + 2d > 1 so that Adx ( t )  is stationary 

Exclusions: No trend removal: E Adx ( t )  = 0 
No special long-term stability measures: total variance etc. 

C. Greenhall, PTTI, 2003-12-03 




